2021 F SIIX AN L ERIERINE B BT EIXM G, 2ERGRIERFSE
RNTEIRE=04)LE BRI IE14
AR BHNES e | ) EIER el Bl BEC P PRty s
4h)LEUM | 3501021998#x##x523 == x BN IRE=XRLILE 77.93 8283 | 80.380 1
#h)LEIM | 3507221998#+#++026 RS x BT IRE =% LE 7353 8537 | 79.450 2
Zh)LEIT | 3505241996%x++043 F/ha xz BN IRE=XRLILE 73.60 8473 | 79.165 3
Zh)LEIM | 3501221997#%#x+726 REE x ENTEIRE=%4LE 73.07 81.07 | 77.070 4
4h)LEUM | 3501031998#xxxx749 wEE x BN IRE=XRLILE 7167 8150 | 76.585 5
Zh)LEIM | 3501221999 %##x129 wE x BT IRE =% LE 77.07 7587 | 76.470 6
4h)LEM|  3501112001++++625 | BREAIFH | % BN IRE=XRLILE 72.33 79.83 | 76.080 7
Zh)LEIM | 3501211990%++++266 E-$22 x ENTEIRE=%4LE 66.60 8480 | 75.700 8
4h)LEUM | 3501041991%#xx929 e = BN IRE=XRLILE 71.07 8027 | 75.670 9
4h)LEUR |  3504812000%%+x+022 =BfE = BN IRE=XREILE 70.60 7967 | 75135 10
LB | 3508251995%x++x346 BHRR z BN IRE=XRLILE 71.73 78.30 | 75.015 11
#h)LEIT | 3501021999%#+#+82X 0 E = BNTEIRE=LR4))LHE 67.53 8223 | 74.880 12
Zh)LEUM | 3501211998%x#xx728 KER z BN IRE=XRLILE 7067 7897 | 74.820 13
LR | 3501241990%++++180 E2 = BN IRE=XREILE 72.20 7733 | 74.765 14
ZhILEIM | 3522271995x#+x146 AN z BN IRE=XRLILE 72.67 7663 | 74.650 15
LB | 3501111994xwxx724 BT = BN EIIRE=LR4))LE 69.67 7950 | 74.585 16
LB | 3504281994xxxx027 EFE z BN IRE=XRLILE 69.47 78.83 | 74.150 17
4h)LEUR |  3501251998#x+xx120 Bibw % BN IRE=XREILE 7113 76.67 | 73.900 18
LA | 3522031994##xxx02X VrEes z BN IRE=XRLILE 67.73 80.03 | 73.880 19
Zh)LEM | 3501811997#+##+523 P = BN AIIRE =54 )LE 70.73 76.57 | 73.650 20
EILEH | 3501251999%+++466 AR = BN IRE=XRILE 64.93 82.33 | 73.630 21
Zh)LEUR |  3501041999#%+xx526 M3 k=S BN AIIRE =54 )LE 70.07 77.10 | 73.585 22
EILEH | 3504301998xxx522 HEE = BN IRE=XRILE 63.80 83.23 | 73515 23
4h)LEUB | 3501111998#x+xx021 i 37 750 % ENTEIRE=XREILE 64.93 8190 | 73.415 24
ILEH [ 3501211998%x#xx741 X3 = BN IRE=XRILE 68.13 78.53 | 73.330 25
h)LEH | 5130211999%+++x208 HIEM = BNTRIRE=XRILE 68.27 78.30 | 73.285 26
EILEH [ 3501211993#xx#x26X #EX E:S ENTEIRE=XRILE 71.60 7480 | 73.200 27
LB | 3504021995%+++x023 Fi = BNTRIRE=XRILE 73.60 7213 | 72.865 28
LB [ 3501021997#xxxx82X K37 E:S BN IRE=XRAILE 64.47 80.70 | 72.585 29
Zh)LEB | 3501051992%%#++527 HE = BT IR E =% )LE 69.27 7570 | 72.485 30
Zh)LEIA | 3507021997+x+x329 4RTER x BNTARIRE=XRAILE 69.80 7497 | 72.385 31
Zh)LEB| 3501231999 +#++329 el = BT IRE =% )LE 69.60 7487 | 72.235 32
ILEH | 3501031999xxx567 HERE = BNTARIRE=XRAILE 66.27 7790 | 72.085 33
LB | 3522271999x+x+021 M % BT IR E =% )LE 7253 7140 | 71.965 34
Zh)LEIM | 3503011995%x#xx482 S x BN IRE=XRAILE 70.00 7343 | 71715 35
Zh)LEB | 3501111999#%#++929 ITHE = BT IR E =% )LE 70.60 7280 | 71.700 36




HILEIM [ 3507251997#x#xx520 FHER z BN IRE=XRLILE 68.00 74.80 | 71.400 37
4h)LET | 3501251998#++++969 R = ENTEIRE=LREILE 60.60 8173 | 71.165 38
HILEIM [ 3501211998x#xx724 AR z BT IRE=XRLILE 66.53 7557 | 71.050 39
HILERIH [ 3501041998xxxx84X & xz BN R IR E =54 )LHE 59.53 8257 | 71.050 39
4h)LET | 3501231993%+x+326 KRR E:S BN IRE=XRLILE 59.67 8230 | 70.985 41
HILEIH | 3508231996%+xx746 E W45 z BN R IR E =4 )LHE 67.13 7483 | 70.980 42
HILER | 3522291996 xxx022 B E:S BN IRE=XRLILE 69.47 7247 | 70970 43
LB | 3501241998%xxxx762 MISE z BN R IR E =54 )LHE 68.27 7357 | 70.920 44
Zh)LEIM | 3501211997#%##+243 SRS E:S BN IRE=XRLILE 67.27 73.63 | 70450 45
ILERIH [ 3501811999#x+xx981 = z BN R IR E =54 )LHE 65.67 7517 | 70.420 46
ILEH [ 3501021999wxxxx52X #%3A E:S BN IRE=XRLILE 69.00 71.70 | 70.350 47
ILEIH [ 3501032000%xxxx62X X ER z BN R IR E =54 )LHE 59.47 81.23 | 70.350 47
ILEUH |  3507831998#++x529 KER =S EMNTEIRE=LR4LE 65.93 7461 | 70.270 49
HILEIT | 3501221990%+#x+585 /N E:S BMNT R IR E=54)LHE 67.67 7277 | 70.220 50
LB | 3501031996%+++x744 MrE st xz MM EIIRE=X%4%)LE 65.27 7477 | 70.020 51
HILEIH | 3501281998++x+682 g z BMNT R IR E=54)LHE 63.13 76.73 | 69.930 52
HILEE [ 3501031997 x+xxx124 FERER =S N EIIRE=X%4%)LE 69.53 69.97 | 69.750 53
HILEIT | 3507811985%+#x+824 B E:S BMNT R IR E=54)LHE 61.33 7740 | 69.365 54
LILEIH | 3501221996+++x821 =y =S N EIIRE=%4%)LE 56.73 81.80 | 69.265 55
HILEIH | 3501281988#x#xx220 RIS ES E:S BMNT R IR E=54)LHE 68.07 70.10 | 69.085 56
LR | 3501031997*++x940 HE xz N EIIRE=%4%)LE 60.60 7750 | 69.050 57
HILBIB [ 3505241991 #+#x+54X BEE E:S BMNT R IR E=54)LHE 69.20 68.77 | 68.985 58
HILEE [ 3501111998x+#x+529 AR k=S BN AIIRE =54 )LE 58.80 79.07 | 68.935 59
HILEIT | 3501821992%+#x+589 MREL E:S BMNT R IR E=4)LHE 59.20 78.57 | 68.885 60
LILEIH|  3501241999%+++x869 il z BN EIIRE=54%)LE 66.00 71.73 | 68.865 61
LILEIB | 3501021997++++466 BRI E:S BMNT R IR E=4)LHE 63.27 73.60 | 68.435 62
LB | 3508231987+++x023 Q35 k=S ENTEIRE=XREILE 65.13 71.63 | 68.380 63
LB [ 3501032000%++%+534 ¥ % BMNTEIIRE=4)LE 60.93 7550 | 68.215 64
LILEIH|  3501251999%++x144 s k=S BN EIIRE=54%)LE 52.73 83.67 | 68.200 65
LILEIB | 3501211997*+++x304 Fir )\ E:S BMNT R IR E=4)LE 57.80 78.47 | 68.135 66
HILBE | 3501231995%+#++362 FiRE k=S BN AIIRE =54 )LE 60.00 76.20 | 68.100 67
4h)LEB |  3501252001%%+++825 FERAR xz EMNTEIRE=R4)LE 58.00 78.10 | 68.050 68
#h)LEUB | 3501032000%%+++600 HH k=S ENT A IRE=XREILE 58.60 7730 | 67.950 69
HILET [ 3504271997 #x#xx02X TEW E:S EMNTEIRE=R4)LE 59.53 76.31 | 67.920 70
LILEIT |  3501211998%+xxx725 SRR k=S ENTEIRE=XREILE 67.93 6750 | 67.715 71
HILEIT [ 3507842000%++%x226 BN E:S EMNTEIRE=R4)LE 57.27 77.03 | 67.150 72
Zh)LEB | 3507251993#%+++040 A= 3 ENT A IRE=XREILE 62.47 71.70 | 67.085 73
HILEIM [ 3501211993 %x#xx247 HEMK E:S BMNTEIRE=R4)LE 64.60 68.93 | 66.765 74
LB | 3501041992%+x+x829 FSES z BMNTEIRE=LR4LE 64.87 68.33 | 66.600 75




LR | 3522021996%xxx522 BBk E:S BMNTEIRE=R4)LE 63.20 70.00 | 66.600 75
ILEH | 3501281993w+++x221 Spas xz BNTRIRE=XRLILE 61.40 7140 | 66.400 77
HILEIM | 3501221997#x#x+828 b z BT IRE=XRLILE 60.87 71.77 | 66.320 78
HILEIH | 3505241995%xxxx067 2XE xz BN R IR E =54 )LHE 59.60 7257 | 66.085 79
Zh)LEIM | 3509211999#+##+025 TR E:S BN IRE=XRLILE 62.80 69.10 | 65.950 80
4h)LEB | 3501021998#++++965 MRE xz BN R IR E =4 )LHE 69.07 62.67 | 65.870 81
LR | 3503211998 +++x529 B ) E:S BN IRE=XRLILE 59.60 7210 | 65.850 82
ILEIB | 3501042000%++xx526 Mz z BN R IR E =54 )LHE 59.13 7257 | 65.850 82
#h)LEIM | 3501221998#x#x+942 KRR E:S BN IRE=XRLILE 53.00 78.63 | 65.815 84
ILEIB | 3507022000%++%x326 EHEE xz BN R IR E =54 )LHE 59.67 7143 | 65550 85
#h)LEIT | 3501042000%#+++60X RIEE E:S BN IRE=XRLILE 58.20 7277 | 65.485 86
ILERIH [ 3501211996xxxxx34X E-77CoN z BN R IR E =54 )LHE 56.33 7363 | 64.980 87
h)LEUR |  3501221997#%+x+826 HikF =S EMNTEIRE=LR4LE 62.93 66.90 | 64.915 88
HILEH [ 3501031996+++x741 AR E:S BMNT R IR E=54)LHE 58.60 7097 | 64.785 89
4h)LEUR |  3501251999x+x+464 HREF =S EMNTEIRE=LR4LE 48.40 80.97 | 64.685 90
HILEIT | 3501031993 #+#%x927 TEE E:S BMNT R IR E=54)LHE 58.67 7043 | 64.550 91
HILEE | 3522272000%++628 FHZ =S EMNTEIRE=LR4LE 61.60 67.43 | 64515 92
HILEIB | 3501041999++xx528 KW xz BMNT R IR E=54)LHE 61.40 66.33 | 63.865 93
HILEE [ 3501221997 x+xx+622 REZT =S N EIIRE=%4%)LE 55.20 7243 | 63.815 94
ILEIB | 3501041992#%+xx021 BEE E:S BMNT R IR E=54)LHE 61.93 65.67 | 63.800 95
ZILEUH | 5323011988#+++x320 WER =S EMNTEIRE=LR4LE 57.00 7040 | 63.700 9
Zh)LEM | 3501221999 x##x129 BT E:S BMNT R IR E=54)LHE 55.20 70.77 | 62.985 97
LB | 3501281997*+++x946 MRET z BN EIIRE=54%)LE 56.73 69.17 | 62.950 98
HILEIT [ 3501251993 #x#xx125 R E:S BMNT R IR E=4)LHE 56.33 69.50 | 62.915 99
LB | 3507251999%+x+x526 IR 3 3 z BN EIIRE=54%)LE 55.27 7051 | 62.890 100
HILEIT | 3501021997x#xx723 RS E:S BMNT R IR E=4)LHE 58.27 66.11 | 62.190 101
LB | 3501041999++x585 Z4E z BN EIIRE=54%)LE 54.40 69.00 | 61.700 102
HILEIT | 3508211994%x#x+027 WEFS E:S BMNTEIIRE=4)LE 53.60 69.73 | 61.665 103
Zh)LEUR | 3501111997*%+xx927 WEE k=S BMNTEIRE=LRELE 51.13 7210 | 61.615 104
HILEIT [ 3507251996%+#x+025 X4 E:S BMNT R IR E=4)LE 53.27 69.87 | 61.570 105
L [ 4310231998+xxxx42X BEN z BN EIIRE=54%)LE 55.67 67.47 | 61570 106
HILEIH [ 3501281999#+#x+36X R E:S EMNTEIRE=R4)LE 49.93 73.00 | 61.465 107
4h)LEF | 3501221999%%#x+126 KFM k=S ENT A IRE=XREILE 53.13 69.43 | 61.280 108
LB | 3501031999%xxx728 R FHE E:S EMNTEIRE=R4)LE 53.27 69.27 | 61.270 109
LILEIT |  4209221988x+xxx664 R k=S ENTEIRE=XREILE 4953 7213 | 60.830 110
LILEIR | 3501031997xxxx124 MRBAFR E:S EMNTEIRE=R4)LE 55.73 6573 | 60.730 111
Zh)LEUB | 3501812000%%+++785 SE 3 ENT A IRE=XREILE 59.13 61.77 | 60.450 112
HILEIT [ 3501211993 #x#xx723 FERR E:S BMNTEIRE=R4)LE 53.73 64.67 | 59.200 113
LB |  5116021996%+++x909 E$a3iT) k=S BMNTEIRE=LR4LE 51.80 6567 | 58735 114




)LEE | 3508251997*x+xx049 pULA xz BT EIRE =% LE 75.73 0.00 37.865 115 [
Zh)LET | 3501041994+++++486 3 x ENT A IR E =% LE 7427 0.00 37.135 116 ek
HILEH | 3501251997*xxx423 L2 VINTT} E:S BT EIRE =% LE 70.60 0.00 35.300 117 [
Zh)LHE | 3501251996%+++863 REAE = BT A IR E=4LE 69.27 0.00 34.635 118 ek
Zh)LEUR|  3505831996%+++x426 STaKK = BT IRE =% LE 67.27 0.00 33.635 119 %
4h)LEUM | 3508211991xxxx424 BihR = ENmEIRE=LRLILE 66.33 0.00 33.165 120 frx
Zh)LEM | 3501251997 +xxxx94X W = ENTEIRE=%4LE 65.40 0.00 32.700 121 R
HILEIB | 3622011998++xx029 7%= = = ENmEIRE=LRLILE 65.13 0.00 32.565 122 frx
ILEH | 3501211995x#xx722 RIS % BT IRE =% LE 64.40 0.00 32200 123 %
LB | 3507251996%+xx526 THR = ENmEIRE=LRLILE 63.80 0.00 31.900 124 frx
Zh)LEIM | 3501281996%xxx+622 e x ENTEIRE=%4LE 63.47 0.00 31.735 125 R
4h)LEM | 3501251997%#xx922 REF = ENmEIRE=LRLILE 61.87 0.00 30935 126 frx
Zh)LEIT | 3508241997xxx120 Jiilf:d % BN IRE=XREILE 61.07 0.00 30.535 127 T
#h)LEM | 3501042000%x##+581 E ] z BN IRE=XRLILE 60.07 0.00 30.035 128 R
Zh)LEIT | 3508211998 xkkxx48x X &R, x BN IRE=XREILE 59.67 0.00 29.835 129 T
Zh)LEUT | 3501031993##+xx34X HRIE z BN IRE=XRLILE 58.93 0.00 29.465 130 R
Zh)LEIT | 3522251995%xx+027 Tt % BN IRE=XREILE 58.47 0.00 29.235 131 T
#h)LEM | 3509812000%+#++063 R z BN IRE=XRLILE 53.40 0.00 26.700 132 R
Zh)LEIT | 3501211994%xxx+345 i % BN IRE=XREILE 50.47 0.00 25235 133 T
Zh)LEM | 3501211999#%#xx167 HIEF z ENTERIRE=XRAJLE | 4953 0.00 24.765 134 R
Zh)LEIT | 3506001998#x+xx521 pUEE % EMNTARIRE=XRLILE | 46.67 0.00 23335 135 T
wENTAIRILEFRE BEERAITRIER20
AR BHES e | ) W RAFR pinviedl Bl e BEC E PRt e
#h)LEB | 3501021998#+#++523 BEH z BNTEIRILEZRE 77.93 82.83 | 80.380 1
LILEH | 3507221998%++++026 RHS = EMNTEIRILEZRE 7353 85.37 | 79.450 2
ZhILEIB | 3505241996+++++043 Fiha k=S BNTEIRILEZRE 73.60 84.73 | 79.165 3
LB | 3501041992x+xxx922 HRER & = EMNTEIRILEZRE 71.73 84.97 | 78.350 4
ZhILEIR | 3501221997%+++726 REE = BNTEIRILEZRE 73.07 81.07 | 77.070 5
LR | 3501031998x+x749 wigE = BMNTEIRILEZRE 7167 81.50 | 76.585 6
Zh)LEIB | 3501221999 %#++129 & z BNTEIRILEZRE 77.07 75.87 | 76.470 7
Zh)LEUB| 3501112001++++625 | BREAIFE | % wEMNTEIRILEZRE 7233 79.83 | 76.080 8
Zh)LEIT | 3504812000%x++022 EN=iE = AT EIRILEZE 70.60 7967 | 75135 9
LILEH | 3508251995%x+x346 BRE = wEMNTEIRILEZRE 7173 78.30 | 75.015 10
Zh)LEUB | 3501211998wx#x+728 KER = EANmEIRILEZE 7067 7897 | 74.820 11
ILEH | 3501241990%++x180 B = wEMNTEIRILEZRE 72.20 7733 | 74.765 12
HILEIR | 3522271995xxxx146 AN = wENTRIRILEFZE 72.67 76.63 | 74.650 13
ILEH | 3501051993%++xx269 Bk ity 730 = wEMNTEIRILEZRE 75.07 7273 | 73.900 14
HILEIH | 3501251998#+xx120 B z BNTRIRILEZRE 71.13 76.67 | 73.900 14




MILEE [ 3522031994#xxx02X VrErss E:S ENmEIRILEFZRE 67.73 80.03 | 73.880 16
ILEIH | 3501811997*xxxx523 RIEEE E:S ENTEIRILEZRE 70.73 76.57 | 73.650 17
HILEH | 3501251999++xx466 AR E:S ENmEIRILEFRE 64.93 82.33 | 73.630 18
LILEIT|  3501041999%++xx526 M xz EANmEIRILEZE 70.07 7710 | 73.585 19
ILEH | 3504301998 xxxx522 e E:S wENmEIRILEZRE 63.80 83.23 | 73515 20
4h)LET | 3501211998#+xx+741 T3 xz EHmEIRILES 68.13 7853 | 73.330 21
ILEH | 3504021995%xxx023 Fit E:S ENmEIRILES 73.60 7213 | 72.865 22
Zh)LET | 3501021997 +x+xx82X E S xz EANmEIRILEZE 64.47 80.70 | 72.585 23
ILER | 3507021997xxx329 EEE E:S wENmEIRILEZRE 69.80 7497 | 72.385 24
HILEIB | 3501231999++xx329 Breata z EANmEIRILEZRE 69.60 7487 | 72.235 25
LR |  3501031999+++x567 RIS E:S wENmEIRILEZRE 66.27 77.90 | 72.085 26
LILEE [ 3522271999+x+xx021 WiE E:S ENTEIXILEZRE 72.53 7140 | 71.965 27
LILEIR| 3503011995 ++x482 BEEEN =S ENmEIRILEZRE 70.00 7343 | 71.715 28
HILEIH | 3507251997#x+xx520 EE E:S EANmEIRILEZE 68.00 7480 | 71.400 29
LILEIR|  3501251998#+++x969 R =S ENmEIRILEZRE 60.60 81.73 | 71.165 30
ILEIB [ 3501041998xxxx84X HwE xz EANmEIRILEZE 59.53 82,57 | 71.050 31
LB | 3501031997*++xx949 FRET xz ENmEIRILEZRE 62.60 79.37 | 70.985 32
HILEIB | 3501231993#++xx326 HFRREAD E:S EANmEIRILEZE 59.67 8230 | 70.985 32
LILEIR |  3508231996%+++x746 E- VA3 =S ENmEIRILEZRE 67.13 7483 | 70.980 34
HILEIB | 3522291996%++xx022 apsys xz EANmEIRILEZE 69.47 7247 | 70970 35
HILEBE [ 3501811995++++601 MR E % BT EIRILESE 68.47 7260 | 70.535 36
HILEIM [ 3501211997%x#xx243 SLREE E:S EMNTTEIRILES 67.27 73.63 | 70450 37
LILEIH |  3501811999#+++x981 HE S ENmEIRILEZRE 65.67 7517 | 70420 38
HILEIT | 3507831998#+#x+529 SRER E:S ENTEIXILEZRE 65.93 7461 | 70.270 39
LILEIT|  3501281998#+x+x682 Wis S ENmEIRILEZRE 63.13 76.73 | 69.930 40
LA | 3501031997++x124 FNEEEL = BT EIXILEZRE 69.53 69.97 | 69.750 41
LB | 3507811985%+x824 STk k=S ENmEIRILEZRE 61.33 7740 | 69.365 42
HILEH [ 3501221996+++x821 2 E:S ENTEIXILEZRE 56.73 81.80 | 69.265 43
LILEIH|  3501031997*++x940 HE z ENmEIRILEZRE 60.60 7750 | 69.050 44
Zh)LEM | 3505241991 wsxxx54X BBE E:S BT EIXILEZRE 69.20 68.77 | 68.985 45
LR | 3501111998#+++x529 AR k=S ENmEIRILEZRE 58.80 79.07 | 68.935 46
ILEE | 3501251995%+++x123 HER E:S EHmEIIRILES 63.27 7450 | 68.885 47
HILEIT | 3501821992#+#x+589 BRLL k=S ENTEIRILES 59.20 7857 | 68.885 48
HILEIT | 3501241999x+x+869 Eped E:S wENmEIRILEFZRE 66.00 71.73 | 68.865 49
HILEIR | 3501021997+xxx466 BRI k=S ENTEIRILES 63.27 73.60 | 68.435 50
HILEIH [ 3501032000%++x+534 ¥ % EHmEIIRILES 60.93 7550 | 68.215 51
LILEIE | 3501251999«xx+144 Ak k=S ENTEIRILEZRE 5273 83.67 | 68.200 52
HILEIM [ 3501231995%x#x+362 FiR% E:S wENmEIRILEFZRE 60.00 76.20 | 68.100 53
LILEIE | 3501252001#+#++825 SSIEIA k=S ENTEIRIILEZRE 58.00 78.10 | 68.050 54




HILEIM [ 3501032000%+#+600 E-basi] z ENmEIRILEFZRE 58.60 77.30 | 67.950 55
LILEIT [ 3504271997#xxx02X TEW % BMNTEIRILEZRE 59.53 7631 | 67.920 56
HILEIM [ 3501211998x#xx725 ERE E:S ENmEIRILEFRE 67.93 67.50 | 67.715 57
4h)LEB | 3507842000%++++226 HWanE xz EANmEIRILEZE 57.27 77.03 | 67.150 58
HILEIM [ 3507251993#x#x+040 A= z wENmEIRILEZRE 62.47 71.70 | 67.085 59
HILEIB | 3501211993#xxxx247 E g2 z EHmEIRILES 64.60 6893 | 66.765 60
ILEH | 3501041992%+xx829 S ST E:S ENmEIRILES 64.87 68.33 | 66.600 61
ILERIB [ 3501281993#x+xx221 Spas z EANmEIRILEZE 61.40 7140 | 66.400 62
HILEIM [ 3501221997#x#x+828 V=D z wENmEIRILEZRE 60.87 71.77 | 66.320 63
HILEIB | 3505241995xxxx067 2XE xz EANmEIRILEZRE 59.60 7257 | 66.085 64
HILEIM [ 3509211999x#%+025 B E:S wENmEIRILEZRE 62.80 69.10 | 65.950 65
ILEIH | 3501042000%++xx526 Mz z EANmEIRILEZE 59.13 7257 | 65.850 66
LILEIR|  3503211998#+++x529 B3 =S ENmEIRILEZRE 59.60 7210 | 65.850 66
HILEIB | 3501221998++xx942 P ES E:S EANmEIRILEZE 53.00 78.63 | 65.815 68
LB | 3507022000%++xx326 SRR S ENmEIRILEZRE 59.67 7143 | 65.550 69
HILEIB [ 3501211996xxxxx34X E-7)EoN E:S EANmEIRILEZE 56.33 73.63 | 64.980 70
LILEIR |  3501221997*++x826 S S ENmEIRILEZRE 62.93 66.90 | 64.915 71
ILEIB | 3501031996%«+xx741 AR E:S EANmEIRILEZE 58.60 7097 | 64.785 72
LILEIR |  3501251999++x464 REF S ENmEIRILEZRE 48.40 80.97 | 64.685 73
HILEE | 3522272000%++++628 Fiea xz EANmEIRILEZE 61.60 67.43 | 64515 74
4h)LET |  3501041999%xx528 AN % ENTAIRILES 61.40 66.33 | 63.865 75
HILEIB | 3501221999x+xx429 f3iA xz EMNmEIRILES 56.93 7077 | 63.850 76
LILEIR| 3501221997 +xxx622 REZ k=S ENmEIRILEZRE 55.20 7243 | 63.815 77
HILEH [ 3501041992++xx021 BEE E:S ENTEIXILEZRE 61.93 65.67 | 63.800 78
LILEIH|  5323011988#++%x320 WiER S ENmEIRILEZRE 57.00 7040 | 63.700 79
EILEH | 3501221999%x+x129 B E:S ENTEIXILEZRE 55.20 70.77 | 62.985 80
LILEIT |  3501281997+++x946 MR T %z ENmEIRILEZRE 56.73 69.17 | 62.950 81
HILEIT [ 3501251993 #x#xx125 R E:S ENTEIXILEZRE 56.33 69.50 | 62.915 82
LILEIH|  3507251999+x+x526 R 3 S ENmEIRILEZRE 55.27 7051 | 62.890 83
HILEIT [ 3501021997x#xx723 RS E:S ENTEIXILEZRE 58.27 66.11 | 62.190 84
LILEIT|  3501041999#+++x585 FT[iE S ENmEIRILEZRE 54.40 69.00 | 61.700 85
LILEIB | 3508211994++xx027 REFS E:S EHmEIIRILES 53.60 69.73 | 61.665 86
hILEUB | 4310231998xxxx42X BEN k=S ENTEIRILES 55.67 67.47 | 61570 87
HILEH [ 3501281999 +#x+36X R E:S wENmEIRILEFZRE 49.93 73.00 | 61.465 88
4hJLEB | 3501221999%%#x+126 KFM k=S BMNTEIKILESR 53.13 69.43 | 61.280 89
LB | 3501031999%xxx728 R FHE E:S EHmEIIRILES 53.27 69.27 | 61.270 90
LILEIE | 4209221988++++664 R k=S ENTEIRILEZRE 49.53 7213 | 60.830 91
LILEIR | 3501031997+xxx124 RBAFR E:S wENmEIRILEFZRE 55.73 6573 | 60.730 92
LILEIE | 3501812000%++++785 S k=S BNTRIRILEZRE 59.13 61.77 | 60.450 93




HILEE | 3501211993%xxx723 FERK E:S BT EIRILEZRE 53.73 64.67 | 59.200 94
Zh)LEIT | 5116021996%x++x909 X x EMmEIRILEZRE 51.80 65.67 | 58735 95
Zh)LEIM | 3501041994++#++486 [y = ENTAIRILEZRE 7427 0.00 37.135 96 [
HILEIB | 3501251997%xxxx423 MINFT = wENTEIRILEFZE 70.60 0.00 35.300 97 frx
Zh)LEE | 3501251996+++++863 RERE x ENTaIRILEZE 69.27 0.00 34.635 98 %
Zh)LEIF | 3505831996%x+x426 STk % BT EIRILES 67.27 0.00 33.635 99 R
ILEH [ 3501251997 #xxxx94X RHIEW x wEMNTEIRILER 65.40 0.00 32.700 100 R
4h)LEB | 3522031999 %#++420 i x ENTEIRILEZE 64.33 0.00 32.165 101 ek
ILEE | 3507251996%+++x526 THE x wENTEIRILEZRE 63.80 0.00 31.900 102 %
HILEIH | 3501281996%x+xx622 BREF = wENm R IRILEFZE 63.47 0.00 31.735 103 frx
LR | 3501251997+#+xx922 B x wENTEIRILEZRE 61.87 0.00 30.935 104 R
4h)LET | 3508241997#%+x120 Jinif:3 x BT EIRILES 61.07 0.00 30.535 105 R
4h)LEE |  3507811996##xxx42x RE % BNTEIRILEZRE 60.93 0.00 30.465 106 e
#h)LEM | 3501042000%x##+581 EM x BT EIRILE#E 60.07 0.00 30.035 107 R
LILEIH [ 3501031993%xxxx34X HRIE z BNTEIRILEZRE 58.93 0.00 29.465 108 ez
Zh)LEIM | 3522251995%%#+#x027 E2&F+ x BT EIRILE#E 58.47 0.00 29.235 109 R
4h)LEUR | 3509812000%%+++063 BRI & = EHTAIRILEZRE 53.40 0.00 26.700 110 B
Zh)LEM | 3501211994#%#xx345 i z BT EIRILE#E 50.47 0.00 25.235 111 R
LR | 3501211999%xx167 2 EE = EHTAIRILEZRE 4953 0.00 24.765 112 B
#h)LEM | 3506001998#xxxx521 X3k 8 z BT EIRILE#E 46.67 0.00 23.335 113 R
BT TLILE BERAIRISLL
RIS AL BMES #HH 351 BERCIFER %o%tﬁéf RS | BEG |ERFS| &
LILEH | 3507221998%+++x026 RHS = wM T s LR 73.53 85.37 | 79.450 1
Zh)LEUR | 3501041992%%#xx922 IR & = M T4 LE 7173 84.97 | 78.350 2
EILEH | 3501221997%x++x726 REE = wM T s LR 73.07 81.07 | 77.070 3
4h)LEUB |  3501031998xx#x+749 wEE = M) LE 71.67 81.50 | 76.585 4
LR | 3501211990%+++x266 £33 = wM T s LR 66.60 84.80 | 75.700 5
Zh)LEH | 3501041991%+x+929 s = M T4 LE 71.07 80.27 | 75.670 6
Zh)LEM | 3504812000%%#++022 =BfE = wM T T s ILE 70.60 7967 | 75.135 7
LB | 3508251995%++x346 BRE = w4 LE 7173 78.30 | 75.015 8
LILEIH [ 3501021999%xxxx82X Z0ET = ' T4 LE 67.53 8223 | 74.880 9
Zh)LEUB | 3501211998wx#x+728 KER = w4 LE 70.67 7897 | 74.820 10
HILEE | 3501241990%+++x180 ET = ' T4 LE 72.20 7733 | 74.765 11
HILEIH | 3501111994wxxxx724 N = w4 LE 69.67 79.50 | 74.585 12
4)LEE | 3504281994x%xxx027 EFE = wM T T s LR 69.47 7883 | 74.150 13
4h)LEUB |  3501251998xx#xx120 B = ' T4 LE 7113 76.67 | 73.900 14
Zh)LEIM | 3501811997x#xx523 iy = ' T4 LE 70.73 76.57 | 73.650 15
Zh)LEB | 3501251999 ++++466 MREE = wMNT T4 LE 64.93 8233 | 73.630 16




HILEH | 3504301998 xxxx522 HEE E:S w4y LE 63.80 83.23 | 73515 17
Zh)LEIT | 3508232000%x+x524 KA = wMT s LE 7047 7580 | 73.135 18
HILEE | 3504021995%xxx023 Fit E:S wMTT T sy LE 73.60 7213 | 72.865 19
LA | 3501051992%x#xx527 HE = w T s ILE 69.27 7570 | 72.485 20
ILER | 3507021997xxx329 EEE E:S w4y LE 69.80 7497 | 72.385 21
LR | 3522271999x+x+021 i xz M T4 LE 7253 7140 | 71.965 22
LA | 3503011995#+#++482 BRI E:S w4 LE 70.00 7343 | 71715 23
Zh)LHE | 3501111999%x+x929 ) x w T s ILE 70.60 7280 | 71.700 24
)LEE | 3501251998+++++x969 16623 x w4y LE 60.60 8173 | 71.165 25
4h)LEUM | 3501211998wxxxx724 MAESE = BT s LE 66.53 7557 | 71.050 26
ILEH [ 3501041998xxxxx84X & x w4 LE 59.53 8257 | 71.050 26
LA | 3501031997#x+x+949 [N xz w T s ILE 62.60 7937 | 70.985 28
LB | 3508231996%++x746 W5 = w4y LE 67.13 74.83 | 70.980 29
LA | 3501241998%xxxx762 P z wM T s LE 68.27 7357 | 70920 30
LB | 3501811995xxx601 [y = w4y LE 68.47 7260 | 70535 31
LR | 3501211997%xx+x243 SRR z wM T s LE 67.27 73.63 | 70.450 32
LB | 3501811999#x#xx981 HE = w4y LE 65.67 75.17 | 70.420 33
4hILEAE | 3501021999%k#xx52x %3 xz wM T s LE 69.00 7170 | 70.350 34
4h)LEE | 3507831998#x##x529 KER = w4y LE 65.93 7461 | 70.270 35
EILEH | 3501031996%x+x744 FrEeEl z wM T s LE 65.27 7477 | 70.020 36
LB | 3501031997xxx124 FNEEL = w4y LE 69.53 69.97 | 69.750 37
#h)LEE | 3507811985%x#++824 S x wM T s LE 61.33 7740 | 69.365 38
LILEIH |  3504241998+xxx225 HEE k=S M) LE 69.20 69.37 | 69.285 39
ILEH [ 3501221996%++x821 =Xy = wM T s LR 56.73 81.80 | 69.265 40
LR |  3501031997*++x940 = k=S M) LE 60.60 7750 | 69.050 41
ZhILEIM | 3505241991 xkrxx54x BB = wM T s LR 69.20 68.77 | 68.985 42
LB | 3501111998#xxx529 EAR = w4 LE 58.80 79.07 | 68.935 43
LA | 3501251995x##x123 W = wM T s LR 63.27 7450 | 68.885 44
h)LEUR | 3501821992#xx+589 BR4L k=S M) LE 59.20 78.57 | 68.885 45
LR | 3501241999%++++869 E-pe = wM T T s ILE 66.00 7173 | 68.865 46
LB | 3501021997*+++466 BRI = w4 LE 63.27 73.60 | 68.435 47
HILEH | 3504271999%xxx526 EEB xz wM T T s LR 67.07 69.40 | 68.235 48
4h)LEUm | 3501032000%+#++534 M= 3 w4 LE 60.93 7550 | 68.215 49
Zh)LEUR|  3501251999+xxx144 AREe = ' T4 LE 5273 83.67 | 68.200 50
HILEIR | 3501211997xxxx304 FiR /N = w4 LE 57.80 7847 | 68.135 51
HILEE | 3501231995%xxx362 FiRzE = ' T4 LE 60.00 76.20 | 68.100 52
4h)LEM | 3501252001%##x825 MER = ' T4 LE 58.00 78.10 | 68.050 53
Zh)LEIM | 3501211998#xxxx725 HERE = ' T4 LE 67.93 6750 | 67.715 54
ILEIH | 3507842000%++xx226 BN = wMNT T4 LE 57.27 77.03 | 67.150 55




hILEE | 3507251993+++++040 HAZ= 4 ‘Mg ILE 62.47 7170 | 67.085 56
Zh)LEIT | 3501211993%xxxx247 BEF x wMT s LE 64.60 68.93 | 66.765 57
HILEH | 3501221997*xxx828 P E:S wMTT T sy LE 60.87 7177 | 66.320 58
4h)LEIM | 3505241995%x+x+067 EXE x w T s ILE 59.60 7257 | 66.085 59
ILER | 3509211999+#xx025 B x w4y LE 62.80 69.10 | 65.950 60
LA | 3501021998%x#++965 R x BT s LE 69.07 6267 | 65870 61
ILER | 3503211998#xxx529 = E:S w4 LE 59.60 72.10 | 65.850 62
4h)LEUM | 3501042000%%#++526 MIkZE = w T s ILE 59.13 7257 | 65.850 62
HILEE | 3501221998%+++x942 KRk x w4y LE 53.00 78.63 | 65.815 64
4h)LEIM | 3507022000%%#++326 SEHESE x BT s LE 59.67 7143 | 65.550 65
Zh)LEUR | 3501042000%#+x+60x RIEE x w4 LE 58.20 7277 | 65.485 66
4h)LEM | 3501221997x#++826 WS = w T s ILE 62.93 66.90 | 64915 67
4h)LEUR|  3501031996%++x+741 AR = M T4 LE 58.60 7097 | 64.785 68
LR | 3501251999%x++464 IS z wM T s LE 48.40 80.97 | 64.685 69
4h)LEUR|  3501031993#%+xx927 TEE = AT LE 58.67 7043 | 64.550 70
ILEE | 3522272000628 REZ x wM T s LE 61.60 67.43 | 64515 71
4h)LEUR |  3501041999#%+xx528 AN =S T sh L= 61.40 66.33 | 63.865 72
LA | 3501221997x#xx622 RER xz wM T s LE 55.20 7243 | 63.815 73
4h)LBUR|  3501041992#+xx+021 BEE x BT T s LE 61.93 65.67 | 63.800 74
LB | 5323011988#+++x320 AR z wM T s LE 57.00 7040 | 63.700 75
LB | 3501221999%+x+x129 e = w4y LE 55.20 7077 | 62.985 76
Zh)LEM | 3501281997#x#+++946 R AT z wM T s LE 56.73 69.17 | 62.950 77
Zh)LEUH|  3501251993#x#xx125 RIF k=S M) LE 56.33 69.50 | 62915 78
EILEH | 3507251999%+++x526 ek 3 3 = wM T s LR 55.27 7051 | 62.890 79
LILEIH |  3501021997#+xxx723 ik = M) LE 58.27 66.11 | 62.190 80
LB | 3501252000%++x120 M E:S wM T s LR 55.07 69.10 | 62.085 81
LB | 3501041999#+xx585 Z4E = w4 LE 54.40 69.00 | 61.700 82
LA | 3501111997+%+xx927 WEEF = wM T s LR 51.13 7210 | 61.615 83
4)LEE | 3507251996%%+x+025 XL = M T4 LE 53.27 69.87 | 61570 84
ZhILEE | 4310231998xsxxx42X HEH = wM T T s ILE 55.67 67.47 | 61570 85
LB | 3501031999xxx728 R = w4 LE 53.27 69.27 | 61.270 86
LR | 4209221988+xx664 RF xz wM T T s LR 49.53 72.13 | 60.830 87
4h)LEUM | 3501031997#xxxx124 AR = w4 LE 55.73 65.73 | 60.730 88
HILEE | 3501211993%xxx723 EERK = ' T4 LE 53.73 64.67 | 59.200 89
LB | 5116021996%+++x909 X = w4 LE 51.80 65.67 | 58735 90
Zh)LEIM | 3501041994%+x++486 [ty % ' T4 LE 74.27 0.00 37.135 91 i
4h)LEE | 3501251997x##x423 NI = ' T4 LE 70.60 0.00 35.300 92 ez
4)LEE | 3501251996+++++863 KR = ' T4 LE 69.27 0.00 34.635 93 %
LhILEA | 3508211991 xxwxxd 24 B/IR % wMTT s LE 66.33 0.00 33.165 94 G




LB | 3501251997 +xx94x RHEW xz w4y LE 65.40 0.00 32.700 95 [
Zh)LEIT | 3501281996%xxx622 ez = wMT s LE 63.47 0.00 31.735 96 R
4)LEE | 3501251997*%+xx922 R = BT T s LR 61.87 0.00 30.935 97 [
4h)LEB | 3508241997#%xx120 Jinif:3 x w T s ILE 61.07 0.00 30.535 98 R
HILEF | 3522251995%xxx027 EzfH E:S w4y LE 58.47 0.00 29.235 99 %
HILEBE | 3522301996%++xx020 BRESF z M T4 LE 56.27 0.00 28.135 100 frx
LA | 3501211994#+#++345 g E:S w4 LE 50.47 0.00 25235 101 R
BT ATIXXR4)LE BRI N
ARSI e | 3 WA BRER pinvied Ll vied ER E PasTo o
ILER | 3501021998#+xx523 =31 x BT A IR LR LE 77.93 82.83 | 80.380 1
4h)LEM|  3501112001++++625 | BRERAIFH | % N A IR 4L 72.33 79.83 | 76.080 2
LB | 3501111994xwxx724 EATA = wNm R IR %4 L 69.67 7950 | 74.585 3
#h)LEM | 3501051993#+##+269 Fir iy #00 z N E IR % 4h)LE 75.07 7273 | 73.900 4
4h)LEUR | 3501041999#%+xx526 e =S BN AIIR KR4 )LE 70.07 77.10 | 73.585 5
LA | 3501111998#xxxx021 fii 37 430 z N E IR % 4h)LE 64.93 8190 | 73415 6
LB | 5130211999%++xx208 HIEM = wNm R IR %4 L 68.27 78.30 | 73.285 7
4hILEE | 3501211993 %kxxx26x o= xz N E IR % 4h)LE 71.60 7480 | 73.200 8
LEH [ 3501021997+x+x+82X RIf =S wNTm R IR %4 LHE 64.47 80.70 | 72.585 9
#h)LEE | 3501231999#%##+329 FREI1E z N E IR % 4h)LE 69.60 7487 | 72.235 10
LR |  3501111999%++%x929 Esay e = BN AIIR KR4 ) LE 70.60 72.80 | 71.700 11
#hILEE | 3507251997*x#xx520 =B z N E IR % 4h)LE 68.00 7480 | 71.400 12
Zh)LEH | 3501211998wxwxx724 AN EZ = BN A IR K4 LE 66.53 7557 | 71.050 13
LILEH | 3501231993%+++x326 FIERD = BT A IR K54 LE 59.67 8230 | 70.985 14
Zh)LEUB|  3501031997#%+x+949 BR4L k=S BN AIIX R4 )LE 62.60 79.37 | 70.985 14
LB [ 3501021999#xx#x52X % E:S BN A IR LS4 LE 69.00 71.70 | 70.350 16
Zh)LEUR |  3501031996%x+x+744 FrE e k=S BN AIIX R4 )LE 65.27 7477 | 70.020 17
LILEH | 3501281998++x682 wiE = BN A IR LS4 LE 63.13 76.73 | 69.930 18
LB | 3504241998+xxx225 EE%a = wNTm R IR 4L 69.20 69.37 | 69.285 19
LB [ 3504271997#xx+x02X TEW = BT A IR K54 LE 59.53 76.31 | 67.920 20
ILEE | 3522021996++##+522 B/ \H = BT A IR R LE 63.20 7000 | 66.600 21
LR | 3501021998++xx965 %) E:S N A IR 4L 69.07 62.67 | 65.870 22
Zh)LEIT | 3501221999xxx429 M iR % BT A IR R LE 56.93 70.77 | 63.850 23
LILEH | 3501111997*xxxx927 WEE = N A IR k4L 51.13 72.10 | 61.615 24
4h)LEUR | 3501281999#xxxx36X W RAE = N R IR 4L 49.93 7300 | 61.465 25
HILEE | 3501221999%+xx126 KFM = N A IR k4L 53.13 69.43 | 61.280 26
LA | 3508251997#++++049 P = BT A IR R LE 75.73 0.00 37.865 27 ek
Zh)LEIT | 3501241996%++++185 X342 = BT EIRERALE 74.20 0.00 37.100 28 %
Zh)LEIB | 3622011998#++++029 HRE = BT IR ERALE 65.13 0.00 32565 29 ek




Zh)LEIM | 3522031999 +#xx420 Ej\e3 53 N A IR 4 LE 64.33 0.00 32.165 30 [
HILEE | 3507251996%++x526 THA = N R IR 4L 63.80 0.00 31.900 31 ez
)LEE | 3507811996##xxx42x RIE = N A IR 4 LE 60.93 0.00 30.465 32 [
Zh)LHE | 3508211998 xwsxx48x &R x MW a IR %40 LE 59.67 0.00 29.835 33 R
BN A IR #EEL)LE BERAITRIE
RIS KA #HH M5 RERMER Z%O%tﬁféﬁ\ ?o%t%% BHSZ |ERFS| &3
Zh)LEIT | 3501041992%xxxx922 HRER & x M a IR #iE4) L 7173 8497 | 78350 1
ZhILEIM | 3522271995+#+x146 IR x BN AR EiEs) )L 72.67 76.63 | 74.650 2
Zh)LEIT | 3501051993#x+x269 Bk iy 450 = M a IR #iE4) L 75.07 7273 | 73.900 3
LB | 3522031994#xxxx02X VFERS x N A IR EE4)LE 67.73 80.03 | 73.880 4
4h)LEUM | 3508232000%x##+524 KA = M a IR #iE4) L 7047 7580 | 73.135 5
Zh)LEUEH [ 3501032000%x+++62X X ER = RN AIIREiEs) )L 59.47 81.23 | 70.350 6
LR | 3501031993#++#x927 TEE z BN R IR EES) L 58.67 7043 | 64.550 7
4h)LEUR | 3501252000%%+x+120 B =S RN AR EiEs) )L 55.07 69.10 | 62.085 8
#h)LEE | 3508251997x#x+049 pULS z ENmE IR EEL)LE 7573 0.00 37.865 9 R
LILEIR| 3505831996+ ++x426 STKK z RN AIIREiEs) )L 67.27 0.00 33.635 10 e
#h)LEM | 3506001998#xxxx521 X3k 8 z ENmE IR EEL)LE 46.67 0.00 23.335 11 R
N RALILE BEER AT RIE
BER A #HH <351 BERAFER kl%ko%tﬁféﬁ\ ?o%t%% BHS |ERFS| &%
LA | 3501021999%#+xx82X Z=50ET z BT R AL ILE 67.53 8223 | 74.880 1
LA | 3504281994#xxxx027 EFE = N RRL)LE 69.47 78.83 | 74.150 2
LA | 3501211998#xxxx741 E3IE = BT R AL ILE 68.13 7853 | 73.330 3
LILEIH|  3508232000%++x524 A = BN RARS)LE 7047 7580 | 73.135 4
LA | 3501031999#xxxx567 FRIREE = BT R AL ILE 66.27 7790 | 72.085 5
LB | 3501251995%++x123 WER = N RRL)LE 63.27 7450 | 68.885 6
LA | 3501251995x##x123 W = BT R AL ILE 63.27 7450 | 68.885 6
Zh)LEUR | 3501211997%+x+304 FhR /N = MR A4 LE 57.80 7847 | 68135 8
Zh)LEUH|  3501032000%++++600 E-basil] = wMNmRRL)LE 58.60 77.30 | 67.950 9
LILEIH| 3501231999 +++x643 (1373 k=S BN RARS)LE 58.33 71.83 | 65.080 10
Zh)LEUR|  3507251996%+++x025 Xt = wNTmRRL)LE 53.27 69.87 | 61570 11
LB | 3622011998%x+x+029 MR E L = MR R4 LE 65.13 0.00 32565 12 ek
Zh)LEIM | 3501211995 x#xx722 BRI % BT R AL ILE 64.40 0.00 32.200 13 i
LA | 3522031999#%#++420 B2 = MR R4 LE 64.33 0.00 32.165 14 ek
Zh)LHE | 3508211998 xwsxx48x X&R, 53 BT R AL ILE 59.67 0.00 29.835 15 i
BT A IR ABHEFRIBE—4/LE RERAITIE
G BHIES x| 3 5% B AR Tass EAAN wmm |muse| @i




GIUBIT| 3501221007726 | REM | & | ENTE ’I‘:ﬁzjﬂiﬁf FRUE | 7507 | e107 | 7700 | 1
SILE0T | 3501221999kmeex129 & & | BMmE ’IE%EH’&*&WE 7707 | 7587 | 76.470 2
GIUEE| 3501211003mem26X | Hx | & | ENTA ’Icﬁﬂ;ﬂjiﬁf FRUE | 7160 | 7480 | 73200 3
BIHF| 3522001006022 | fumte | % | PNPRLIEKIIMEESRIE |\ 600 | 047 | 0070 | 4
GILEE | 3501241008mw0762 | HREES & | BMmE ’Izﬂﬂ;ﬂj’ff FRME | 6507 | 7357 | 70920 | s
GILEIT| 3504241008wm225 | B | & | EMTA ’Iggcﬂzjﬁ’rf FRIE | 6920 | 6937 | 60285 6
GBI | 3508231087w023 | fTEEER | & | ENTA ’Izﬂzjﬁﬁ# FRIE | 6513 | 7163 | 68380 7
GILEIT| 3504271000+m526 | HEB | = | EMTA ’Iggcﬂzjﬁ’rf FRIE | 6707 | 6940 | 68235 8
GILEIT| 3501241996++185 | MBS | & | MDA ’Izﬂzjﬁﬁ# FRIE | 7400 | o000 | 37100 9 G
GIEE | 3501211005mm722 | HHH | & | EMTA ’Iggcﬂzjﬁt—f FRIE | 6440 | 000 | 32200 | 10 bh
GBI | 3522301006++4020 | BRERF | & | ENPE ’Izﬂzjﬁﬁ# FRIE | 5607 | o000 | 28135 11 G
BMNTEIX EThgh)LE BEERAITRIEL
ABS L BHHES e | M WA BRER prinviedl Ll cied BEC E PeCTo o e
Zh)LEIH | 3501041991%+++929 s = BN AIR ETHsLE 71.07 8027 | 75.670 1
#hILEE | 3501221990%+##+585 /NG z ENHEIR ETH4LE 67.67 7277 | 70.220 2
HILKE | 3504271999+xx526 o = wMNTEIR ET LR 67.07 69.40 | 68.235 3
#h)LEE | 3501231999x#++643 (1373 x ENHEIR ETH4LE 58.33 7183 | 65.080 4
LR | 3501221999%+xx429 fio3i =S wMNTEIR ET LR 56.93 70.77 | 63.850 5
Zh)LEM | 3508211994#%#xx027 w&EE z ENHEIR ETH4LE 53.60 69.73 | 61.665 6
LB | 3501241996%++x185 x| 4% = wMNTEIR ET LR 74.20 0.00 37.100 7 R




